ITI Turner 2nd Year Module 6 CNC Turning

(1). Which G-code is suitable for data input in mm? | ﬁlﬁ[ﬁéﬂﬁﬂ?%m
®I 91 6-HIS U &7

(A) G21

(B) G27
(C) G20
(D) G28

Correct Answer : A

(2). Which axis in the following graph vertical line indicates? | fgfefad o
SR X@ H {5y s1gf b1 S g2

]

L]

(A) Origin line | ga 3T
(B) Xaxis | X 3{&
(C) Zaxis | Z &
(D) Y axis | Y 3{&

Correct Answer : D



(3). What is the use of GOO command? | GOO WWWW%’P

(A) Linear interpolation | TOR SeUICIR

(B) Rapid traverse |3ﬁ_5'aaﬁ

(C) Tool returns from reference point | WW@@WW%
(D) Return to reference point | Ry LJT‘{;C Ca cd e B %

Correct Answer : B

(4). Which mode, the cutting tool returns back to its home position? | fhogasd

BT T B! g1 TSR H aTuy 311dT g2
(A) Automatic mode | 3ficHICH AIS

(B) MDI mode | MDI HIS

(C) Jog mode | SITTHIS

(D) Reference mode | RBI=T A

Correct Answer : D

(5). How to achieve longer tool life during metal cutting in CNC? | CNC H Yrd

HIeA & SR dd THY P ¢ ATSH B U B2
(A) More depth of cut | ¢ DI 3fed TeRT5

(B) Increase cutting speed | @l &1 Tfd I@TQ

(C) Higher rpm | 3 3RUTTH

(D) Decrease cutting speed | BTe- @1 Ifd HH B

Correct Answer : D




(6). Which mode is used to edit the program? | Wﬁq%zmﬁ%%um
IS &1 IYTRT fhar ST 872

(A) Jog mode | SINTHIS

(B) Edit mode | TfScHIS
(C) MDI mode | MDI HIS
(D) Auto mode | 3{ICIHIS

Correct Answer : B

(7). What is the basis of absolute co-ordinate point? | Wﬁ-\ﬂl%ﬁa BIE
BT YR 1 6?

(A) Based on the last point entered | aﬁmﬂt{ Hmﬁ@% SHIYR U
(B) Based on the origin(0,0) | Hd (0,0) & YR WX

(C) Based on the work end point | W\‘Hﬂﬁ@% SHTYR U

(D) Based on the tool geometry only | W@Wﬁﬁf% YR U

Correct Answer : B

(8). Which one of the following M-code is suitable for chuck close? | ﬁqi%r@afr
TS I M-PIS TP §g B & 08 SUFA &7

(A) M09

(B) M11
(C) M10
(D) M13

Correct Answer : B



(9). What is ‘D" in | HinD ’W%
vV DN 5
1000

(A) Rpm of the cutter | FHel Dl GI'ITTﬁQT[

(B) Diameter of the cutter | P CX D[ MY

(C) Cutting speed of the cutter | dCX GG RERIG
(D) Feed of the cutter | HX DI BIS

Correct Answer : B

(10). What is the full form of MDI? | MDI WU;UTWW%?
(A) Mechanical Data Implantation

(B) Manually Data Input

(C) Moderated Data Input

(D) Mounting of Diagonal Impact

Correct Answer : B

(11). What is expressed as meter/minute? | e /ﬁFlE’% U H o7 ad fhar
I 82

(A) Feed | Bis

(B) Cutting speed | CERERIIG]
(C) Depth of cut | hC ﬁ‘lsﬁl‘g
(D) Cycle time | dsh HHY

Correct Answer : B



(12). What is the meaning of open loop and closed loop? | 3T M GﬁT Fars
U & T HIAS 62

(A) These both are programmable data | g Elqlm%%

(B) These both are two types of control systems | g al:llfﬁ OhR i ObUg‘:Iﬂ
w8

(C) Data collecting systems | Scl Belac RITH

(D) Data storage system | éETH‘;I_S'EI'UﬂFﬁ

Correct Answer : B

(13). Which operation is performed by point- to-point system? | wslc-g-uTsc

RReH gRT &M 9T SHTIRRM a1 ST 82
(A) Side milling | TT3S fAfeT

(B) Face milling | W faIfeiT

(C) Drilling | TSfeiT

(D) Pocket milling | Oide THICHT

Correct Answer : C



(14). What is the control system of the CNC machine? | WWWW
Ul 1 82

(A) Straight cut control | W we g

(B) 2-D Contouring control | 2-D G'bgré‘l G'bg\lc'i

(C) 3-D Contouring control | 3-D G'bgré‘l G'bg\lc'i

(D) 2% D Contouring control | 22D O'bgﬁ‘l O'bg\lﬂ

Correct Answer : B

(15). Which is the programme for depth of cut of 2-5 mm is given? | 2-5 ot ot

e TS & fo1T B Aruiume fear man g

(A) NOO3 M08 GO01X-2.5
(B) NO0O4GO01Z-2.5



(C) NO04GO01Z-25
(D) NOO7GOO0X+5

Correct Answer : A

(16). Which M code is to activate coolant pump in CNC machine? | CNC R R

Faic TU ol Tfehd A & [ DI T M BIS 82

(A) MO1

(B) MO06
(C) M08
(D) M09

Correct Answer : C

(17). Which describing machine tool movement in CNC? | ?ﬂ@?ﬁﬁﬂ?ﬂ:{@
Ha¥e &1 U I Bl 82

(A) G-code | G BIS
(B) M-code | M PIS
(C) T-word | T Xeq
(D) S-word | S-RTsG

Correct Answer : A



(18). What is the indication of ‘'M'? | M ’WWW%?

(A) Machine zero point | mzﬁ?\‘rﬂfrﬁs‘c:’

(B) Work piece zero point | ﬁﬁgﬁﬂﬁtﬂ%—f

(C) Tool zero point | Qﬁﬁﬂﬁqﬁ?

(D) Machine reference point | 'J:I'Qﬂ:fﬁ'mtﬂ%f

Correct Answer : A

(19). What is the unit of depth of cut? | hcC ﬁ‘lﬁ%l‘épﬁ ‘écbl‘ér R % ?

(A) Inches | 3?[
(B) Mins | HI=T
(C) mm
(D) cm

Correct Answer : C



(20). How the single block mode is executed in CNC? | CNC T fTd i Jis

&Y furfea frar Srar g?

(A) Jog mode | SINTHIS

(B) Edit mode | TfScHIS
(C) Auto mode | 3fcI AIS
(D) MDI mode | MDI ATS

Correct Answer : C

(21). What is the indication of ‘'M'? | M ’WWW%?

(A) Machine zero point | ﬂ?ﬂ:[\_rﬂﬁqyl%?

(B) Work piece zero point | ﬁtﬁﬂ\?ﬂﬁtﬁ%—d

(C) Tool zero point | @Gﬂﬁtﬁs—(ﬁ’

(D) Machine reference point | n&ﬂ?ﬁqﬁmuﬁz



Correct Answer : B

(22). Which one of the following M-code is suitable for coolant pump ON? |
frafafiad & 9 & A1 M-BIs Faic U 3fiF & forg Iuged g2

(A) M10

(B) M11

(C) M09

(D) MO8

Correct Answer : D

(23). What is wear offset? | ferara &r”rth‘é?:’am%?

(A) Tool length setting | Wﬁﬂﬁﬁ’f@ﬁﬂ

(B) Geometry setting | STfHfd IfeT

(C) Tool wear adjustments | VIR frTa &7 e

(D) Work offset setting | ST 3Hfpde AfeT

Correct Answer : C

(24). Which mode is used while loading / unloading the work piece in CNC

machine? | CNC AR H gH U &1 @IS / 3FAS Hd IHY [T HIS T IUAT
fpar Sirar g?

(A) Simulation mode | RIGARH A
(B) Automatic mode | licHCH AIS
(C) Jog mode | ST HIS

(D) Edit mode | Tf&T AT




Correct Answer : C

(25). How the open loop control system is differ from closed loop control system?

| 3T U el RIeH aalive U deld ReH ¥ &y 3T 62
(A) Motor | AleX

(B) Feed back | BPISed

(C) Computer control | HCR AT

(D) Machine | AR

Correct Answer : B




